BE BTS2 S92 g TH
Zi50ll Chst E:%isd SAE tHE

BEFREEPIAR e TH

=Abdtract=

A Study on the Consciousness of Dental Technicians about the Courses of
Dental Technology Dept., Junior College, Korea

Choi, Un-Jea
Dept. of Dental Laboratory, Wonkwang Health College.

This survey aimed at the analysis of the consciousness of the dental technicians on the college

education ; 205 denta technicianswho graduated the relavant school answered.

Following isthe result of the analysiswith its sttistcal number.

1. About the time when they chose their major, 84 people(41.1%) answered the prepartion period
for the college. And, 74(36.1%) said that they applied on their own thought to their major. The
reason why they chose it wasfirst the prosperity expected in the near future, 93(45.4%)replied.

2. 161(78.5%) were satisfied with their college days. On the other hand, the most regretful one
those days, 69(33.7%) answered, was the scarcity of the study seminar.

3. About the exercise courses, 120(58.6%) showed dissatisfaction, and 66(32.3%) people of the
dissatisfied pointed out the lack of the instruments.

4. The suitable number in a class, 124(60.5%) supported, is 20 heads. The appropriate period of
education was said three years by 71(34.6%), four years 53(25.9%) and the extension to the
graduate school by 41(20.0%)

5. About the tips for the professors, 147(71.7%) proposed they would research and lecture further
more. To the college administration, 116(56.5%) suggested it should accomo-data enough
instruments for practicing.
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] X2-TEST
= T ' NO(205) % (100) (P value)
20tH 99 48.3 X2=50.615
a g 30t} 85 415 df=2
40tH 21 10.2 P<0.001
= 165 80.5 X2=76.220
N4 A o 40 19.5 df=1
P<0.001
INE 116 56.6 X2=3.556
AEAHR n & 89 43.4 df=1
P>0.05
= 6 2.9 X2=312.559
3 g A& 3 187 91.2 df=2
o) B =] o] 4 11 5.4 P<0.001
3d oy 54 26.3
54 o]y 32 15.6 -
BESIE 104 o]y 60 29.3 hS Ef5_6'§’37
A = 159 o]y 29 14.1 P<0.001
20 o]y 22 10.7 :
201 o] 4 8 3.9
A e 32 15.6
A= 19 9.3
Ao Y= 5 2.4 X2=128.541
(=) FHE 29 14.1 df=7
Ags 76 37.1 P<0.001
ARE 30 14.6
AF= 14 6.8
2 o] %] 34 16.6
SRSE 19 9.3
3 9 X 8 3.9 _
< A -~ 265 X*=161.010
EETiR df=7
; a3 2 1.0 P<0.001
o o} 16 7.8 )
AR JF 43 21.0
71 € 8 3.9
271 % 23 A 175 85.4 X?=249.873
st A 3 A 17 8.3 df=2
(25374) 71 & 13 6.3 P<0.001
.z 2 205 165 (805%),
40 (195%)
1, TAILH A XE2| el EM 20 9 (483%)

, 116 (566%),
89 (434%)
(D 187 (91.2%)



X2-TEST
g 5 T % NO(205) % (100)
(P value)
8A] 7t 19 9.3
9A] 2t 20 9.8 X2=152.439
THAIZE
- 10A) 7t 111 54.1 df =4
(143 )
1147} 22 10.7 P<0.001
12A)7F o] 4 33 16.1
4A) 7t 19 9.3
e ZEA 7 5A] 7t 11 5.4 X2=266.195
A7) 6A] 7t 16 7.8 df=4
= TAI 7Y 25 12.2 P<0.001
8AI 7L o] 4} 134 65.4
o = A 63 30.7 X2=47.454
2] 4 ZFAEA 111 54.1 df=2
5 o & 31 15.1 P<0.001
11 (54%) : 10
10 6 10 ) 60 8
(29.3%) 3 54 134 (65.4%) 7
(26.3%) 5 25 (12.2%) 8
119 (58%)
76 (37.%) 111 (54.1%),
, 32 (156%), 30 (146%), 63 (30.7%), 31 (151%)
29 (141%), 19 (93%),
14 (68%), 5 (24%)
75 (36.69%0) 3. SfuHEl Sl sy
2
175 (855%), 3 17 (83%) 1)
2
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) 10 111 (54.1%) (41.0%), 74 (36.1%),
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T8 S 4 9 S AA
=3 20t | 30tH | 404 1 o WA [BFAEA| Fo& K
TRAA 9 3 1 8 5 3 8 2 13
ol A (9.1) | (35) | (4.8) | (4.8) | (125) | (4.8) | (7.2) | (6.55) | (6.3)
2mAE 11 10 4 20 5 10 12 3 25
(11.1) | (11.8) | (19.0) | (12.1) | (12.5) | (15.9) | (10.8) | (9.7) | (12.2)
37 40 7 69 15 28 42 14 84
Y713
(37.4) | (47.1) | (33.3) | (41.8) | (37.5) | (44.4) | (37.8) | (45.2) | (41.0)
AMA 2 40 28 6 59 15 20 44 10 74
2 (40.4) | (32.9) | (28.6) | (35.8) | (37.5) | (31.7) | (39.6) | (32.3) | (36.1)
A4 B 2 4 3 9 2 5 2 9
(2.0) | (4.7) | (14.3) | (5.5) (3.2) | (45) | (6.5) | (4.4)
99 85 21 165 40 63 111 31 1205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) [(100%)
Chi - Square X?=11.662 X?=5.331 X?=3.356
df df=8 df=4 df=8
(P Value) p=0.166 p=0.254 p=0.910
4,

& a 4 9 S AAH
=% 20ty 30t 40t ut o HWEA (FAEA FA&E |3 &
Boyg g 20 27 4 43 8 21 22 8 51
A AH (20.2) | (31.8) | (19.0) | (26.1) | (20.0) | (33.3) | (19.8) | (25.8) | (24.9)
1w AR 12 10 1 19 4 7 12 4 23

F3A (12.1) | (11.8) | (4.8) | (11.5) | (10.0) | (11.1) | (10.8) | (12.9) | (11.2)
col By 36 30 8 59 15 19 44 11 74
(36.4) | (35.3) | (38.1) | (35.8) | (37.5) | (30.2) | (39.6) | (35.5) | (36.1)
v 2 8 9 3 19 1 6 10 4 20
(8.1) | (10.6) | (14.3) | (11.5) | (25) | (9.5) | (9.0) | (12.9) | (9.8)
2387 16 5 2 13 10 4 18 1 | 23
Bz (16.2) | (5.9) | (95) | (7.9) | (25.0) | (6.3) | (16.2) | (3.2) | (11.2)
TVS 7)& 7 4 3 12 2 6 5 3 14
FRE BT | (7.1) | (47) | (143) | (7.3) | (5.0) | (95) | (45) | (9.7) | (6.8)
A 99 85 21 165 40 63 111 31 205
(48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) |(100%)
Chi - Square X?=11.125 X?=11.905 X?=11.928
df df=10" df=5 df=10
(P Value) p=0.347 p=0.036* p=0.289
*P<0.05



25 (122%), 13 23 (11.2%), 20
(6.3%) 98%), TV 14 (68%)
20 87 (781%), 30 68 40
(80%), 128 (77.6%), ,
30 (75%), 48 ,
(76.1%), 86 (77.4%)
.(P<0.05)
3)
< 5>
93 (454%),
2) 39 (19.0%),
< & 36 (17.6%), 20
74 (361%), (9.8%), 6 (29%)
51 (24.9%),
5.

77 d ! Z 9 A 3
=3 20t) | 30t | 40dW Gl o HWEA] [TAEA FO1& |3 &
=) A o] 43 37 13 73 20 31 52 10 93

L1 A (43.4) | (43.5) | (61.9) | (44.2) | (50.0) | (49.2) | (46.8) | (32.3) | (45.4)
EL Bo 21 13 2 27 9 14 14 8 36
W 2 glojA] | (21.2) | (15.3) | (9.5) | (16.4) | (22.5) | (22.2) | (12.6) | (25.8) | (17.6)
ALsle FAt 4 2 4 2 3 3 6
5 oA | (4.0) | (2.4) (2.4) | (5.0) 2.7) | (9.7 | (2.9)
Ao 2] 11 8 1 17 3 5 10 5 20

o) £ (11.1) | (9.4) | 48) | (10.3) | (7.5) | (7.9) | (9.0) | (16.1) | (9.8)
9E5Mg S 18 17 4 34 5 12 22 5 39
3 2 glolA | (18.2) | (20.0) | (19.0) | (20.6) | (12.5) | (19.0) | (19.8) | (16.1) | (19.0)
P 2 8 1 10 1 1 10 11
(2.0) | (9.4) | 4.8) | (6.1) | (25) | (1.6) | (9.0) (5.4)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) [(100%)
Chi - Square X2=9.978 X2=3.787 X2=19.476
df df=10 df=5 df=10
(P Value) p=0.458 p=0.580 p=0.034*
*P<0.05



& A ek D A A &
=3 20t} | 30Wh | 40d @ o HEA] |TFAEA| FoA& |3 &
o 9 1 1 10 1 6 5 11

s (9.1) | (1.2) | (4.8) | (6.1) | (25) | (95) | (4.5) (5.4)
o o= 23 20 4 39 8 14 28 5 47
- B (23.2) | (23.5) | (19.0) | (23.6) | (20.0) | (22.2) | (25.2) | (16.1) | (22.9)
52 52 10 88 26 34 62 18 114
=% (52.5) | (61.2) | (47.6) | (53.3) | (65.0) | (54.0) | (55.9) | (58.1) | (55.6)
o ooz 12 5 3 16 4 7 7 6 20
= (12.1) | (5.9) | (14.3) | (9.7) | (10.0) | (11.1) | (6.3) | (19.4) | (9.8)
3 6 1 9 1 1 7 2 10
o - ERES
(3.0) | (7.1) | (4.8) | (5.5) | (25) | (1.6) | (6.3) | (6.5) | (4.9)
1 2 3 1 2
7! B (1.2) | (95) | (1.8) (1.6) | (1.8) (1.5)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) |(100%)
Chi - Square X?=21.052 X?=3.040 X?=11.773
df df=10 df=5 df=10
(P Value) p=0.020* p=0.693 p=0.300
*P<0.05
40 ,30 , 20 .(P<0.05)
50%, 44.2%, )
: , 2)
.(P<0.05)
< 7> 94 (459%)
4. StaP s gt 2fAl
1) 56 (27.3%),
32 (156%),
< 6 114 (556%), 19 (9.3%),
47 (229%), 20(9.8%), 4 (20%)
11 (54%), 10 (4.9%) 30 ,20 ,40 |, ,
83.9% ,
30 : 30.3%

30.0%



T2 a3 e L A A
=3 200 | 30tf | 40d i o WEA FAEA| 542 |4 &
e A o] g7 25 25 6 50 6 16 31 9 56

o) 2o (25.3) | (29.4) | (15.0) | (30.3) | (15.0) | (25.4) | (27.9) | (25.0) | (27.3)
UREA] X & 2 1 1 3 1 1 3 4
2 BAZ | (20) | (1.2) | (25) | (1.8) | (25) | (1.6) | (2.7) (2.0)

W9te] 11 6 2 15 4 2 15 2 19

nz3 (11.1) | (7.1) | (9.5) | (9.1) | (10.0) | (3.2) | (13.5) | (6.5) | (9.3)
S35 H Aol 21 9 2 20 12 12 12 8 32
o] ol | (21.2) | (10.6) | (9.5) | (12.1) | (30.0) | (19.0) | (10.8) | (25.8) | (15.6)

4w 40 44 10 77 17 32 50 12 94

(40.4) | (51.8) | (47.6) | (46.7) | (42.5) | (49.2) | (44.1) | (38.7) | (45.9)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) |(100%)
Chi-Square X2=9.978 X?=3.787 X2=11.319
df df=10 df=5 df=10
(P Value) p=0.458 p=0.580 p=0.333*

8.

T8 A H o4 29 AA A
=3 200 | 30Wi | 40d @ o HEA FAEA| 501& |4 &

A Z-ulf 2t 10 16 3 25 4 10 17 2 29

O 3R (10.1) | (18.8) | (14.3) | (15.2) | (10.0) | (15.9) | (15.3) | (6.5) | (14.1)
By 3o 17 11 4 26 6 10 13 9 32

O 3= (17.2) | (12.9) | (19.0) | (15.8) | (15.0) | (15.9) | (11.7) | (29.0) | (15.6)
et AR 35 27 5 53 14 20 36 11 67
nE BE (35.4) | (31.8) | (23.8) | (32.1) | (35.0) | (31.7) | (32.4) | (35.5) | (32.7)
&< 4| v U 33 30 6 56 13 19 43 7 69

2 = (33.3) | (35.3) | (28.6) | (33.9) | (32.5) | (30.2) | (38.7) | (22.6) | (33.7)

. g 4 1 3 5 3 4 2 2 8

(3.0) | (1.2) | (14.3) | (3.0) | (75) | (8.3) | (1.8) | (6.5) | (3.9)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X2=13.766 X2=5.208 X*=13.829
df df=10 df=5 df=10
(P Value) p=0.183 p=0.391 p=0.180

71



3)

< & 30
69 (33.7%), 67 : ,
(32.7%), 32 (15.6%),
29 (14.1%),
20 40
, 30
5)
< 10>
64 (31.2%),
39 (19.0%),
39 (19.0%),
(24%)
, 30 , 40 :
4)
<
108 (52.7%), 94 (459%)
9.
T A 4 HE B AAF
T3 20c] | 30dh | 40ty =1 o HEA [TAEA| 52 | F 3
9 9 52 46 10 83 25 30 58 20 108
(52.5) | (54.1) | (47.6) | (50.3) | (62.5) | (46.6) | (52.3) | (64.5) | (52.7)
45 39 10 80 14 31 52 11 94
® = (45.5) | (45.9) | (47.6) | (48.5) | (35.0) | (49.2) | (46.8) | (35.5) | (45.9)
2 1 2 1 2 1 3
7] E}
(2.0) (4.8) | (1.2) | (3.5) | (3.2) | (0.9) (1.5)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X?=5.140 X*=6.795 X*=7.394
df df =6 df=3 df=6
(P Value) p=0.52 p=0.078 p=0.285

20



10.

T2 d ! z o A A
=38 200 | 30d | 40df k=i o HEA |FAEA| 52 |3 &
o] gt 21 16 2 25 14 11 22 6 39
o obA] (21.2) | (18.8) | (9.5) | (15.2) | (35.0) | (17.5) | (19.8) | (19.4) | (19.0)
FepA odckn | 31 26 7 52 12 20 29 15 64
A 7= of (31.3) | (30.6) | (33.3) | (31.5) | (30.0) | (31.7) | (26.1) | (48.4) | (31.2)
Agol YT 2 2 1 3 2 1 4 5
o YA (2.0) | (2.4) | (4.8) | (1.8) | (5.0) | (1.6) | (3.6) (2.4)
AFEEH 1 1 1 1
Bx3l (1.0) (0.6) (0.9) (0.5)
A AA 7} 4 3 2 8 1 3 4 2 9
AREx] R (4.0) | (35) | (9.5) | (4.8) | (2.5) | (4.8) | (3.6) | (6.5) | (4.4)
4 8 - 40 38 9 76 11 28 51 8 87
(40.4) | (44.7) | (42.9) | (46.1) | (27.5) | (44.4) | (45.9) | (25.8) | (42.4)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X?=4.529 X?=11.287 X?=9.260
df df=10 df=5 df=10
(P Value) p=0.920 p=0.045* p=0.507
* P<0.05
5. S0 Cigt 24
1
< 1> 75 2)
(36.6%), 68 (33.2%), 45 < 12
(22.0%), 12 (5.9%), 3 66 (32.3%),
(15%) (24.9%), 45 (22.0%),
120 (58.6%0), 83 (40.6%) 27 (132%)
, 20 ,30 , 40 40 ,30 ,2
(P<0.01),

ol



T8 a % 4 3 2 A F
= 20ty 30ty 40tH i o HEA] [FAEA| FAE | F ¥
. e 3 1 2 3 3
L (3.0) (0.6) (5.0) (2.7) (1.5)
o = 6 3 3 8 4 9 3 12
B (6.1) | (3.5) | (14.3) | (4.8) | (10.0) | (14.3) | (2.7) (5.9)
30 31 7 57 11 26 34 8 68
= 5 (30.3) | (36.5) | (33.3) | (34.5) | (27.5) | (41.3) | (30.6) | (25.8) | (33.2)
- o 39 30 6 57 18 21 39 15 75
= - (39.4) | (35.3) | (28.6) | (34.5) | (45.0) | (33.3) | (35.1) | (48.4) | (36.6)
o mm 21 20 4 40 5 7 30 8 45
e 2 (21.2) | (23.5) | (19.0) | (24.2) | (12.5) | (11.1) | (27.0) | (25.8) | (22.0)
- o 1 1 2 2 2
(1.2) | (4.8) | (1.2) (1.8) (1.0)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi -Square X?=11.988 X?=9.657 X?=28.863
df df=10 df=5 df=10
(P Value) p=0.285 p=0.855 p=0.007**
* % P<0.01
30 ,20 , 40
80.6%
63.5%0, 53.2%
.(P<0.05)
3)
< 13 20 20
124 (60.5%), 30 50
(24.4%), 40 27 (13.2%)

20

74



12.

T8 A % 4 04 W A A
=3 20t 30Th 40ty Gl o QEA (FAEA| A& |3 &
NeA7 BE 11 13 3 21 6 8 16 3 27

(11.1) | (15.3) | (14.3) | (12.7) | (15.0) | (12.7) | (14.4) | (9.7) | (13.2)
A 7] =ZA 33 26 7 55 11 16 36 14 66
75 (33.3) | (30.6) | (33.3) | (33.3) | (27.5) | (25.4) | (32.4) | (45.2) | (32.3)
AL 16 23 6 39 6 18 24 3 45
EF4A (16.2) | (27.1) | (28.6) | (23.6) | (15.0) | (28.6) | (21.6) | (9.7) | (22.0)
A Hu go 31 19 1 38 13 11 30 10 51
oA 2] (31.3) | (22.4) | (4.8) | (23.0) | (32.5) | (17.5) | (27.0) | (32.0) | (24.9)
. 5 7 4 4 12 4 10 5 1 16
(7.1) | (4.7) | (19.0) | (7.3) | (10.0) | (15.9) | (4.5) | (3.2) | (7.8)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X?=14.789 X?=3.452 X*=18.573
df df=10 df=5 df=10
(P Value) p=0.139 p=0.630 p=0.046*
*P<0.05
13.
T& A # 4 4 A9 AA A
=3 200y 300 | 40d) @ o WEA] [TAEA FoI& |3 &
205 61 53 10 102 22 40 59 25 124
(61.6) | (62.4) | (47.6) | (61.8) | (55.0) | (63.5) | (53.2) | (80.6) | (60.5)
505 20 21 9 39 11 17 30 3 50
(20.2) | (24.7) | (42.9) | (23.6) | (27.5) | (27.0) | (27.0) | (9.7) | (24.4)
10%3 15 10 2 22 5 6 18 3 27
(15.2) | (11.8) | (9.5) | (13.3) | (12.5) | (9.5) | (16.2) | (9.7) | (13.2)
505 1 1 1 1
(1.0) (0.6) (0.9) (0.5)
2 1 1 2 3 3
6073 o4 (2.0) | (1.2) (0.6) | (5.0) 2.7) (1.5)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X?2=9.554 X?=9.196 X?=11.495
df df=10 df=5 df=10
(P Value) p=0.480 p=0.104 p=0.320




14.

T& A % 4 4 W A A
=3 20t | 30d] | 40ty ¢ o HNEA [FAEA| FAS &
o 9 ol 47 41 7 76 19 25 58 12 95
=sdg (47.5) | (48.2) | (83.3) | (46.1) | (47.5) | (39.7) | (52.3) | (38.7) | (46.3)
ZF £80 29 22 6 45 12 21 26 10 57
44 (29.3) | (22.9) | (28.6) | (27.3) | (30.0) | (33.3) | (23.4) | (32.3) | (27.8)
12 12 3 23 4 8 13 6 27
ax a2
(12.1) | (14.1) | (14.3) | (13.9) | (10.0) | (12.7) | (11.7) | (19.4) | (13.2)
d42 80 10 7 4 18 3 6 12 3 21
H2k= (10.1) | (8.2) | (19.0) | (10.9) | (7.5) | (9.5) | (10.8) | (9.7) | (10.2)
AF =0l 1 2 2 1 1 2 3
orgl o} (1.0) | (2.4) (1.2) | (25) | (1.6) | (1.8) (1.5)
. o 1 1 1 1 2 2
(1.2) | (4.8) | (0.6) | (2.5) | (3.2) (1.0)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X?=8.135 X?=2.393 X?=9.730
df df=10 df=5 df=10
(P Value) p=0.615 p=0.792 p=0.464
6. AZAS0l CHet 2[4
1)
2)
< 14> < 15
95 (46.3%), 57 77 (376%), 2 50 (244%), 1
(27.8%), 27 (13.2%), (185%), 1 27 (13.2%), 2 3
21 (10.2%), 3 (3.9%)
(15%)
179 (87.3%) 40 ,30 ,20

30 20

87.3%, 87.5%
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15.

T A 4 4 2 9 AAH
3 200 | 30di | 40d 1 o WA [FAEA| FAE | F ¥
o 4 3 1 5 3 1 5 2 8
25 ~35 (4.0) | (35) | (4.8) | (3.0) | (7.5) | (1.6) | (45) | (6.5) | (3.9
oL 15 10 2 20 7 5 19 3 27 .
(15.2) | (11.8) | (9.5) | (12.1) | (17.5) | (7.9) | (17.1) | (9.7) | (13.2)
o4 28 19 3 38 12 13 27 10 50
(28.3) | (22.4) | (14.3) | (23.0) | (30.0) | (20.6) | (24.3) | (32.3) | (24.4)
18] 41 29 7 65 12 28 38 11 77
(41.4) | (34.1) | (33.3) | (39.4) | (30.0) | (44.4) | (34.2) | (35.5) | (37.6)
10 21 7 32 6 15 18 5 38
1d &<t
(10.1) | (24.7) | (33.3) | (19.4) | (15.0) | (23.8) | (16.2) | (16.1) | (18.5)
1 3 1 5 1 4 5
71 E}
(1.0) | (3.5) | (4.8) | (3.0) (1.6) | (3.6) (2.4)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
~ Chi-Square X?=12.841 X?=5.300 X?=9.628
df df=10 df=5 df=10
(P Value) p=0.232 p=0.380 p=0.473
7. W= AEOf| CHEE 2|4 2) ?
< 17> 3 71
1) (34.6%), 4 53 (25.89%),
< 16> 41 (20.0%), 2 37 (18.0%)
68 (33.2%), 50 3 4
(24.4%), 43 (21.0%), 94 (459%)
23 (11.21%), 15
(7.3%), 6 (29%)
30
20
.(P<0.001)
.(P<0.05)



T a4 # A 4 A 9 A A A
=3 20ty 30ty 40tj k1 o] EA FAEA|FdE | F &
. 5 9 1 13 2 6 7 2 15

(5.1) | (10.6) | 4.8) | (7.9) | (5.0) | (95) | (6.3) | (65) | (7.3)
geA BaE 10 9 4 16 7 10 12 1 23
(10.1) | (10.6) | (19.0) | (9.7) | (17.5) | (15.9) | (10.8) | (3.2) | (1.2)
oA BE 47 21 6 49 19 15 40 13 68
(41.4) | (24.7) | (28.6) | (29.7) | (47.5) | (23.8) | (36.0) | (41.9) | (33.2)
ol A & 18 21 4 38 5 12 26 5 43
A ZHEE (18.2) | (24.7) | (19.0) | (23.0) | (12.5) | (19.0) | (23.4) | (16.1) | (21.0)
Srole B 1 4 1 5 1 2 4 6
TEE T 10) | @ | @8) | 3.0) | 25) | 32) | (3.0) (2.9)
v @A A 24 21 5 44 6 18 .22 10 50
RIS (24.2) | (24.7) | (19.0) | (26.7) | (12.5) | (27.0) | (19.8) | (32.3) | (24.4)
99 85 21 165 40 63 111 31 205
A L assy | s | 02 | 805) | (195) | (0 | (541) | (5.1 | (100
Chi - Square X?=19.780 X?=13.749 X?=12.315
df df=12 df=6 df=12
(P Value) p=0.071 p=0.032* p=0.420
*P<0.05
17. ?
& A g4 d Z o A A A
23 20ty 30tH 40t} =) o Q=A F2EA| A& (2 &
o 23 9 5 28 9 10 18 9 37
b (23.2) | (10.6) | (23.8) | (17.0) | (22.5) | (15.9) | (16.2) | (29.0) | (18.0)
2 34 30 7 59 12 31 33 7 71
= (34.3) | (35.3) | (33.3) | (35.8) | (30.0) | (49.2) | (29.7) | (22.6) | (34.6)
- 22 25 6 44 9 19 24 10 53
< (22.2) | (29.4) | (28.6) | (26.7) | (22.5) | (30.2) | (21.6) | (32.3) | (25.9)
ey B3 18 20 3 32 9 3 34 4 41
RARS] (18.2) | (235) | (14.3) | (19.4) | (22.5) | (4.8) | (30.6) | (12.9) | (20.0)
. 2 1 2 1 2 1 3
(2.0) | (1.2) (1.2) | (25) (1.8) | (3.2) | (1.5)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X?=7.086 X?*=1.590 X*=26.123
df df=8 df =4 df=8
(P Value) p=0.527 p=0.810 p=0.0010%**
* % % P<0.001



T A H A 93 =z 4 A A
=3 20t 30tH 404 k1 o =X FAEA & |2 &
15 8 2 20 5 9 12 1 25
o @R
as2) | 04 | 95 | azn | azs) | 43 | q0s) | 129 | 12.2)
0 0 | 36 11 73 14 | 28 | 49 0 | 87
T 404y | (a24) | (51.4) | (44.2) | (35.0) | (44.4) | (44.1) | (32.3) | (42.4)
37 | 35 6 61 17 | 22 | 43 13 | 78
oA a2¥%g
(37.4) | (41.2) | (286) | (37.0) | (425) | (34.9) | (38.7) | (41.9) | (38.0)
6 4 8 2 1 5 4 10
A X 61y | @ 48) | 5.0) | 16) | @5 | 129 | 49
1 2 2 3 2 3 2 5
T L ao | en | o5 | a8 | o) | @s) | w8 (2.4)
99 | 8 | 21 | 165 | 40 | 63 | 111 | 31 | 205
A (48.3) | (41.5) | (10.2) | (805) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X?=9.150 X?=2.248 X?=9.462
df df=8 df=4 di=8
(P Value) p=0.329 p=0.690 p=0.304
8. W=l S 1fef ZHA(of Ciet oA 16
(78%), 13 (6:3%),
1) 10 (49%)
< 18 87 20 40 .30
(42.4%), 78 (380%),
25 (122%), 10 (49%)
40 ,2 ,30 ,
2)
? 3)
< 19 134 (654%) < 2
68 (298%) 147 (11.7%),
19 (9:3%),
2 (156%), 16 (7.8%),



19.

T A 4 H A q A A
3 20 30t} 40ty G o HEA] [FAEA| FAE |3 &
5 8 10 3 2 9 2 13
Rl (5.1) (9.4) (6.1) (7.5) (3.2) (8.1) (6.5) (6.3)
6 4 8 2 2 7 1 10
el A4 (6.1) 4.7) (4.8) (5.0) (3.2) (6.3) (3.2) (4.9)
Al Zrol vyt tf & 21 9 2 23 9 6 20 6 32
5 (21.2) | (10.6) | (9.5) | (13.9) | (22.5) | (9.5) | (18.0) | (19.4) | (15.6)
ﬁ; ;ﬂ]o]cﬂhg} 5 10 1 12 4 5 6 5 16
227} g101A (5.1) | (11.8) | (4.8) (7.3) | (10.0) | (7.9) (5.4) | (16.1) | (7.8)
- g 62 54 18 112 22 48 69 17 134
(62.6) | (63.5) | (85.7) | (67.9) | (55.0) | (76.2) | (62.2) | (54.8) | (65.4)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X?=12.437 X?=2.741 X?=10.143
df df=8 df=4 df=38
(P Value) p=0.132 p=0.601 p=0.255
20.
T a & 4 4 A9 SR
23} 20t} 30t} 40ty k=1 o NEA] |FAEA| FA& | F &
2} A} AL 9 6 1 11 5 4 11 1 16
AAZAA 8= | (9.1) (7.1) | (4.8) (6.7) | (12.5) | (6.3) (9.9) (3.2) (7.8)
A=dde 72 64 11 123 24 46 79 22 147
AT 729 (72.7) | (75.3) | (51.4) | (74.5) | (60.0) | (73.0) | (71.2) | (71.0) | (71.7)
EANS F 10 6 3 13 6 5 10 4 19
Ue AE (10.1) | (7.1) | (14.3) | (7.9) | (15.0) | (7.9) | (9.0) | (12.9) | (9.3)
g3tz HA 3 3 4 2 7 2 3 5 1 9
ER (3.0) 4.7) (9.5) (4.2) (5.0) (4.8) (4.5) (3.2) (4.4)
5 5 4 11 3 5 6 3 14
71 = (5.1) (5.9) | (19.0) | (6.7) (7.5) (7.9) (5.4) (9.7) (6.8)
99 85 21 165 40 63 111 31 205
A (48.3) | (41.5) | (10.2) | (80.5) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
Chi - Square X?=9.730 X?*=4.189. X?=3.156
df df=8 df=4 df=8
(P Value) p=0.284 p=0.380 p=0.924




(449%)

30 , 20 , 40
v, Z2+ ol Ik
0. 54 U Skl Tt 212 Af
< 21> (
) 116 (565%), 48
(234%), 31 (151%),
4 (20%)
4
30 , 20
21,
ey ik I Ao A A
=3 20t 30t 400 Gl o HEA FAEA| FA&2 |2 &
TSAd B& | 56 48 12 95 21 42 55 19 | 116
AR 2) | (56.6) | (56.5) | (57.1) | (57.6) | (5255) | (66.7) | (49.5) | (61.3) | (56.5)
S8 wa | 18 11 2 21 10 4 22 5 31
1) (18.2) | (12.9) | (9.5) | (12.7) | (25.0) | (6.3) | (19.8) | (16.1) | (15.1)
U g ALA 1 3 3 1 1 3 4
24 84 | (10) | (35) 18) | @5 | 16 | @n (2.0)
vemg an | 2 20 6 40 8 15 26 7 18
(22.2) | (235) | (286) | (24.2) | (20.0) | (23.8) | (23.4) | (22.6) | (23.9)
2 3 1 6 1 5 6
T o | e | @ws | @6 (1.6) | (4.5) (2.9)
99 85 21 | 165 | 40 63 | 111 | 31 | 205
A (48.3) | (415) | (10.2) | (805) | (19.5) | (30.7) | (54.1) | (15.1) | (100)
~ Chi- Square X*=4.185 Xt=5.132 X*=10.290
df df=8 df=4 df=8
(P Value) p=0.840 p=0.274 p=0.245

8l
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